A=V bFXY b

R=ILITObkxy b

HEEC R
 BSAWKS ) =27 o2 RRA > b DR—ILTY > b HETRE

HmiEN
R=ILRIY bFy b2 U—XiF TR—FINTVBAWKS U —IHGEER—ILICED T T, BEAORHEZETHEZEHTETSZ TR
I“_“/$"/ I“—t“j—o
AR
Physical Characteristics
Material ADC12 (aluminum alloy)
Body Color Silver
Warranty
Warranty Period 1year
Details See www.moxa.com/jp/warranty

Package Contents

Installation Kit 3 x PK-DC2DOF components
2 x M8 screws (length: 80 mm)
1 x M8 screws (length: 90 mm)
1 x M8 nut
3 x M8 washers
3 x M8 spring washers
4 x M5 screws
4 x M5 washers
4 x M5 spring washers

www.moxa.com/jp




&

PK-DC2DOF D F13 057

BfiI: mm im =i
(Q |‘r||i||1||| QJ
|
169
20\&
ol o ] o
| haul Nep] (s2)
299
PK-DC2DOF Ex D (i3 > 5
B mm 43.5
43.5 30

A-AtEoTa>
2-M8EE
&
2
(@)
- =
83 .
(V] .
A ol
P A o
R <~ ‘ T
w-&‘:{{{}@: o)
@ S
a lﬁl 10.5 = 16
3822 28 BBES Y3y
77£1.5

www.moxa.com/jp




PK-DC2DOF BYD {#FR—2

BfI: mm

E-EEEo 3>

(aV)
S| 60.9
e 55.5
37
16
2.7
1 -
—f-—
-l
i 0)*\ Q\ g
Slo fo |, Q
g a}{ ¢
v 41
\\/16_
[(e)
4.1
2°
41.8
20
A-Ato>aY

C-Ctrvray

ANXIEHR

Model Name Supported Products

AWK-4131A Series
PK-DC2DOF AWK-4252A Series

© Moxa Inc. All rights reserved.20235F4H 11 HE#1.

Moxa Inc. DEAERFRIZEE CEISLARWVRD ., AES LUV ZD—HOERCERIIV I B EHEPVDRZEETOHHAIINEEA. B
ORI FERCEESNDZ LD HD £, BFORMBRICOVTIEHLEDOWebT 1 b2 TELZE L,

www.moxa.com/jp




	製品紹介 
	仕様 
	寸法 
	注文情報 

